10.1 Introduction
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10.2 The Cross Product
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10.3 Gauss Law for Magnetism
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10.4 Biot-Savart Law due to Current
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10.5 Biot-Savart Law for Moving Charges
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10.6a Example #1

Find the magnetic field at an arbitrary point P on the axis of a circular loop of radius a carrying a current [

7»!"’ ece h

2 The Vrok-Savert Law Aetecmdnes
AB ak P so we mugh ideatify
ve cbord oTZ m\dﬁ

— When we 50 nonnd the ring,
Pae A8 comroneabs et o
qugn.hculur bo +lhe axus
wnllcmce‘ gVing & nek
magnetrc Geld alors the > -6>U

: > d8. 2 9 We uér need 4o Ened ab.
A8 ond i‘ﬂksrrl-e‘.
f % e\@ .
u a8
—_— 2 c= Tex®
Rt Sav rct Law: Asidet AK‘ - dB s 8 K cos B = =, c ‘SA_-
- Y ¢ o ’10.
1 <7 -);l)l,{? - we knov dl L ¢ 50 8
I Ro Tdl*r . VYO
6= q'; c* = dl(e) s\
-~ p, Ldl - ol
Yzt
u d I-Jlm
o IAI A .’V"’
X FOIAL 0% 0= M 3 = *o).wn.
A8~ Yrr® Ynr o e
U Ja“’ dna
- - A Mo Ta Al _ j i1
s’- \J'AK’L X L('TL (’(L+“ )3[1, %1. (x 4_‘1.) r
% Mo Ia (XXA) ~
= /
b L%’/ﬁ‘. (Xz*a-z.)in
> ‘I LS N
g Mot 2






10.6b Example #2

A thin, straight wire is carrying current /. Calculate the magnetic field at point P on an axis going halfway through the wire.
Assume the leads to the ends of the wire cancel the field at point P (eg. You twist the wires)
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